SOLPOWER MACHINE
ELECTRONIC CORP.

Direct-Drive Power
Bearing Module

(SPBMS Series)




A

O FR

AR
REBRNSHEOKRSE  SHBRAREKRERN SOP BEEEERE -
ROBUE  emEBEREERERGHK  EREREAUHEDNE S -

AR #5
RETENRBAEE  WEEPNEELCRETCEERK  LEEFR
ARFsEHE - TEiRFEHAEERARE -

=k
DRBREIMZL - EERGMBERRMEE - REHSNEE - Bif=s
HMAERRAERMINEE HEFHAZR -



MANAGEMENT PHILOSOPHY

Quality

In order to provide high-performance servo motors, high-precision
measurement equipment and strict S.O.P. documents are needed
to make sure that we have total control the quality of each
manufacturing process. We're committed to constantly improving
the manufacturing technics and R&D resources of servo motors,
and working hard to provide the most reliable servo motor
products.

Service

Based on the concept of business credibility, we provide complete
service network and satisfy customer’s standard and customized
servo motor requirements to expand global market.

Innovation

We continuously supply our customers with high quality servo
motors based on our own R&D innovative technologies and
vertically integrating the manufacturing processes of the motor.
We enhance the added value of the industry and create a win-win
situation with our customers.




AEIE T

REREBRNAERATIMIIN 1995 F - u2Y)  ERGETEKEOMNE
Eﬂi?ﬂ#%%lﬁl Fh - ARBECHEHMBEEG S  FEESHFIERE

CEREMSHEEYNE - A 2 VBB SEAIMEERVZETIZREREN 2R - sk
%‘ﬁr%%’fﬂb&&lﬁ%%ﬁﬁﬂﬁﬁ% - EmEEREBERSE  BSERS
#= - ReHRE- EEE_‘C%IEIEBIT’EE\ - BRI/ AWM TS - AEEH -
HREmSHEmERER CBR - EBAES TEMRIESIZS KA E
R Iﬂﬂj%fﬁiﬁﬁ/\_—l—ﬂ?léﬁ( t BB & = It EBEH K-
HE.%5) BXEFPNEE -

RERBEIMES  EHAHMREAERBEZREN  WESETEREFRE
K- BB RS ESBEANNER  FHBERDS  SERGEES " R8I
B WEREER - DEIFMERTERENEERE - BERANE
mifsk - BEEFBHERREN - HEBE - HEHE CNCHEHTRAIELE
HIRRIARRK -




COMPANY PROFILE

SOLPOWER Machine Electronic Corp. was founded in 1995. In consideration of world
ranking of Taiwan machine tool export, the fourth to the fifth place, it was a pity that Taiwan
machine tool companies have no their own spindle motor controllers. All the key components,
including the CNC controllers, need to be imported from Japan or Germany.

SOLPOWER is continuously working hard on integrating high-quality CNC controllers/servo
drives. We self-design and manufacture our own servo motors, including induction motors,
synchronous permanent magnet motors, linear motors, direct-drive 4th and 4/5th rotary
tables, and build-in spindle motors, for general industrial machinery and CNC machine tools.

Owing to the outstanding product characteristics and quality, which is compared favorably
with spindle motors made in Europe, America, and Japan to gain very good feedback from
customers. Our motors export to thirty nations including China, Germany, Japan, Italy, U.S.A,

Switzerland, Korea, Poland, and India in the world.

SOLPOWER has continuously improved product accuracy and stability since its
establishment, to meet the needs of various markets and customers. Over the years,
SOLPOWER has always insisted on the business philosophy, "Quality, Service, and
Innovation". We keep investing a lot of R&D resources, equipment and manufacturing
technics in new product research and development, working together with our customers, in
order to create a glorious future for the CNC machine tool industry.

AR RN AT



SPBMS ...

‘ EmiTITeEsa

7« Power Bearing Module

GENERAT 1ON

LIpAL Y=

SPBIS

280 820 800 s

SitandaptdisSpeed,
ERA LIS

iehESbeed
ETERES

EmiTIteEE

BHNEE
 BHEEESAR  FREN EER ERE
TS -

 BREBEHAEN @) B (AR ERERES
Bt ) ARERE -

C EEABHREIER (22-bits LLE ) - AIETEEES
2|EFAEMT -

CBRTPOILEL  EREE EBE -

. NERBBES AR CH AR (SRR ) RS
EH 0 BY -

- KA TS - ERIEILER -

DE-C0

- AR F IR AR S TR -

- AREE S BR M E T AT A -
AL

- BEBALL o ELEE -

Product features and advantages

Compact

- Direct connection to the load, Gearless, Backlashless,

Low Noise.

- High over-load capacity(4x), High speed, High servo-

response.

- Absolute encoders, High resolution(over 22-bits), High

Precision.

- Hollow-Shaft structure, easy wiring and piping.
+ High rigidity, integrated radial and axial bearings,

suitable for heavy-duty cutting applications.

+ Heavy-duty Machines.

Customize

+ Customer-Supply-Encoder available.
- Customize plate for mechanical fitting if needed.

Cost-effective

- Structure part modulized, local tooling.



RHTE - BiRAVED Power Bearing Module

FA3&&B 51 Applications
- CNC 320 TH D - CNC Vertical Machine Center
- CNC #B3 0 - CNC Tapping Center Applications

- BNERW / E®% /) ET% - CNC Gear Tool Grinding Machines




S P B M S Series Efe? ﬁfﬁjﬁ.oi

o TS
Ijge;‘e;iﬁ:il’ @%ﬁﬁ%fﬁ% Data position of the order No.
2] P SPBMS 320 - 3 S H - 9 R C 1 - 1
&)l 3 1&E#H Power Bearing Module [ljr?tfrﬁfl
R 250 250 number
%2821‘“ 320 320
Compatible End Plate 500 500
Diameter 650 650
BEELE Fixed Number
EFFERE 50mm HIEEER 1
TEEI SRR EFTEE 100mm HIZREHR 7] 2
Rated Torque EFHERE 70mm KIZEER N 3
EFHERE 150mm MEEERN 4
S IZ#EFER Standard Speed S
Rotating Speed EEE High Speed A
1ZHEChZeEl ( 785% ) Standard Hollow Shaft(default) H
Z8kHhZEE Hollow Shaft, Customized Through-Hole Size C
HEZEIEE ShEEEiETE with Rotary Joint T
Shaft Extension SHEEEEEEE8REE with Rotary Joint and Chuck U
HE Others v
S AR TR SH (72K ) % / BARE (8] ) Liquid-Cooling/with Pneumatic Clamp (default) ZEE
ey EiEE]E SH (7K ) 7% / #ESREE Liguid-Cooling/without Clamp N
The Cooling and B/% / #3XE Self-Cooling/without Clamp M
UL 5 | BE Self-Cooling/with Pneumatic Clamp L
B Fixed Number
NIKON Protocol MC43 2
RENISHAW SIEMENS 6
RENISHAW MITSUBISHI 7
D Tpay a) RENISHAW FANUC 8
Y | RENISHAW BiSSS-C 9
Abs. Encoder HEIDENHAIN ECA EnDat2.2 D
Types RENISHAW PANASONIC E
EHiBEE ECA4000 iRiS2s X
= RENISHAW BiSSC #riszs Y
HYE
EREES #H R (7858 ) from NDE(default) R
Connector Direction HY
1Z=dECh ##4R Standard Type C
. [EREE#HR Cable with Nylon Protective Tube N
gﬁ%@ﬁiﬁ [BEEERSIRIR Cable with Nylon Protective Tube + Stainless Steel Braiding S
MEXTNEBEEHR Two-stage Cable with Nylon Protective Tube T
MERNEREE ISR Two-stage Cable with Nylon Protective Tube + Stainless Steel Braiding M
5m 1
PERRE m
Cable Length 3

HiRE Other Length

E =1 Fixed Number
hRZ<T& Design Revision 1~7

R BRBETEFR SR ETONSIUER > WELENREEAD -

The company reserves the right to modify the specifications/design, subject to change without further notice.



SPBMS £ R JiF5E hE — 1Z#EESE / SPBMS Torque Distribution_Standard Speed

|
SPBMS 250-35, B2, I1REEE 60 / 240 Nm L L%x;;i;ﬁ@
SPBMS 250-3S, JHI/7K )%, 124 i@ 120 /240 Nm z’sﬁ%ﬁgax' e

Rated Torque

120/ 480 Nm

i
e

SPBMS 320-35, B2, 1REEE

240 /480 Nm

[

SPBMS 320-3S, J#I//K 2, 1R%E#E
580 /1160 Nm

N

SPBMS 500-1S, J#I/7K 2, 1R%E 8

SPBMS 500-25, HI/7K )%, 1Z# 8 1250/ 2000 Nm

N

SPBMS 650-35, HI/7K )%, 1% i35 1250 /2000 Nm

~ A = gy

SPBMS250-3A, B %, SEELES 26 /78 Nm L L%x;;i;;@
. . . Max. Torque

SPBMS250-3A, /K%, HiEi& 52/78 Nm S

Rated Torque

SPBMS320-3A, B)%, 5 iEk 45 /135 Nm

SPBMS320-3A, JHI/7K)%, BEE 90/135Nm

SPBMS500-1A, JH/K )2, SR 240 /480 Nm

SPBMS650-3A, /K2, SR 450 /900 Nm
200 400 600 800 1000 Nm
fimEt - REMARK :
a) iRIGSesHTEABERITH| 2REVMhE1ERE - BERETIEAE - a) Encoder types are relative to the CNC controller,

please contact SOLPOWER for further detalils.




SPBMS ...

SPBMS250

Model Designations

SOLPOWER Power Bearing Module

= 35 3 N

Vodo! SPBMS Series SPBMS250-3SH | E)/JiE#H 250 1E88iR

Model -3SH -3SHN -3SHM -3SHL
KSBEHRE KSEXE BTERE B5ERE

1I8H Item ES{i] Unit 2B Value {5+ Remarks
BEENSTN EREERES
Driving system Direct-Drive
I s
Shaft Diamater SD mm ®90n7 MRS B
HEZILE
Through hole diamater LIS it ©46G7
BRIEES
Total weight (including Torque Motor) W kg 63 55 55 63
WL RS J kgm"2 01
nertia

c BHFEHEHESE o

2 Allowable load inertia e e s

8} EEZ EF

= ,%;g%%iigjj Puc kg/cm™2 5 5

8 Un-Clamping Pressure

(% HERBHRET) PG kg/cm*2 5 5 RESEL

= Clamping Pressure 9 Pneumatic

§ 24 ER

£ ?Egﬂﬁiﬁi?ﬂﬂ T Nm 400 400

© lamping Torque

e

Q . 200 — =

= SHEHEE Bt "9 (®250x500L, S45C) mEE (1)

ﬁﬁ Capacity of workpiece mass . —

& VA kg 150 TEE (2)

1>(

% F N 15000 TEE (3)
REFNSHEN - -
Allowable load when clamped FxL @ Nm 400 TRE (4)

FxL &fE Nm 600 TEE (5)

B iR Y 1 B fm 18 —
Shaft runout Radial Rr i <0.005 =8 (6)
28 v 19 3 1 4 9B —
Shaft runout Axial Ra mm <0.005 REE (7)
RESR -
IP protection level
WAER S/ KsED Bnal
Cooling method Liqud-Cooling Self-Cooling

=) == [BF
'E&.Ebég.mA% 2 Vo Vrms 220 380 220 380

river input voltage
B3 @ P 44 44

- Poles

S WmEME

g Rated power Pr W 1256 628

9 %E‘*'Ejﬂﬂ | BAEN Tr/Tm Nm 120/240 120/270 60/240  60/270

o ated Torque / Max. Torque

O BEEER | RAE

§ Rated Current / Max. Current Ir/Im Arms 11724 11/ 30 4.4 124 4.4 130

£ BEEER | R AER

5 Rated Speed / Max. Speed Vr/Vm rpm 100 /200 100/300 100/200 100 /300

L = = "
SRIREAREHR terminal to

% Back E.M.F. € VSO0 72 o o terminal

N oo

#? ifm%%‘ Ks Nm/Arms 13.6 13.6

Hﬂl orque constant
EAIEE P arc-sec *10 +10
Absolute accuracy

)=
;E@*HE. : Ps arc-sec 4 4
epeatability
RFARE
Backlash U arc-sec 4 4

a) DD BEEWEMBERSTE 5 &Y TERRRIFEDSNRRESERTE  BRIGBERNENERRX  BoREIREAE -
NATREFTERASERETEUECUERN - B TR @A -

The company reserves the right to modify the specifications/design, subject to change without further notice.



SPBMS250-3SH

8-0B5EZ
L 101478
EEHZEIL

8-M8x1.25xL16
Wesg 2L
For Rotary Part

SPBMS250-3SHN

8-085E%

L 121478
@258 BEE#RENL
For Fixed Part

246 GTEZ

8-M8x1.25xL16
i fese e
For Rotary Part

For Fixed Part

246 GTBZ

@2740.2

©274-0.2

RS ER R
M23-17pin 90/&
SHBOEBSEREETE

s 4L, CL
S Ebkgf/cm”2

o E5 gl = B5
o| =R BooE =He
o oM g 5725 gty
a g&s o QU Q=
S Qg SIRSE RS
Eo [ERe]
1%
AR M23-6pin 90/
M23-17pin 90 8180 [0
SRIB0EBEEYERE HETE
8-M5x0.8xL10
S0
o
)
=
i
5]
=83 [
ogl - 'E’g‘c; Eog% E’{Hﬁi‘:
Bl 2| g¢ o| Rl Feg
S g Q| ox| et
Hs 2K

BHEE
M23-6pin 90/E
ZEN80E R ER
HERE

8-M5x0.8xL10

TEE (1) TEE (2) TEE (3) TREE (4) TEHE (6) TREE (7)
w L

F

]




S P B M S Series aEdBeI,\geSs?g?}gcions

SPBMS250-3SHM

41 205
b 51 200295 5. 37
@258 EEHLEAL
For Fixed Part -
T
] :
% [T§=
N N Hpy O NEH N
e ERE o Il o25 Sig
N O g&g IS %% o ¥
8 8 § oge S| o8 SNt
E=Xe) @
K== g
(BEH)
RS aRIE Eapal:3T)
M23-17pin 90/Z ) M23-6pin 90E
SEIB0ENRBEHETRE S 81808 LB
HERE
8-M5x0.8xL10
SPBMS250-3SHL
@5
7, CL
73 205 @5 SE6kgf/cm”2
8-085 T2 EZ @A, UCL
u@mv;gg 5 20| 295 5 37 S E26kgf/cm”2
@258 EEAZEA T
g
Sl &
g
o3| o3| mE: i Tloow RS
X Wl offfe o 2% gﬁxg
N & 8«8 S [ Q&F
SIS & Q| Qf QY 5
Be @
g
8-M8x1.25xL16 AR ER R SR
fed sk g, M23-17pin 9082 M3 6 om 90
For Rotary Part P W P
ZEIB0E B EBRYE TR 26180 BHEE
HETRE
8-M5x0.8xL10




5-6

SOLPOWER Power Bearing Module o g
Model -3AH -3AHN -3AHM -3AHL
KHERE KHEXRE BHEXRE BHHERE
1B8H Item ES{i] Unit 21{E Value {iEzF Remarks
BEENT5 T - - BB EEED
Driving system Direct-Drive
HHEE s
Shaft Diamater SD mm ®90h7 TR A B4
HMEZILE
Through hole diamater D nn 246G7
BiLES
Total weight (including Torque Motor) i kg 66 58 58 66
&=
;E}i’“ﬁi J kg-m"2 0.1
nertia
c BHEHEHESE -
£ Allowable load inertia d e L
if—:) ’%é%gﬂi@ﬂ Puc kg/cm”2 5 = = 5
g Un-Clamping Pressure
sEay l«: 4= = 5 =
§ BEREHEE] . kgiom?2 . ) ) . REEE
= amping Pressure Pneumatic
O  REMEHEHEEN Tc Nm 400 - - 400
% Clamping Torque
R
8 BASt K <0 TEE (1)
S BSHaHnsEs * £ (®250x200L, S45C) VR
ﬁﬁ Capacity of workpiece mass . —
Ky Vs kg 60 TmEE (2)
R
= F N 10000 TEE (3)
#
RERNSHET @ B
Allowable load when clamped FxL @ i 400 mEE 4)
FxL e Nm 600 TEE (5)
B R D 1 __
Shaft runout Radial Rr i <0.005 T=E (6)
0 A B R R I
Shaft runout Axial Ra mm <0.005 REE (7)
REFIR
IP protection level - - IP67
WA » 3 S/ KGN SN
Cooling method Liqud-Cooling Self-Cooling
=1 == [EF
’E’)&;D%SWJAEE@ Vo Vrms 220 380 220 380
river input voltage
IR p - 16 16
- Poles
S BEEIER
g Rated power Pr W 5500 2750
5 WEEHN /| |]RKAED
é Rated Torque / Max. Torque Tr/Tm Nm 52 /78 52 /78 26/ 78 26/ 78
©  BEEER /| /RAE
§ Rated Current / Max. Current Ir/1m Arms 26 /40 26 /40 13 /40 13740
£ BEER | fAER
5 Rated Speed / Max. Speed Vr/Vm rem 1000 /1500 1000 /2000 1000 /1500 1000 /2000
L == = .
SHIRE R BENR terminal to
?E Back E.M.F. e Wimeelitan L L terminal
N an
g HOSH Ky Nm/Arms 2 2
%HP Torque constant
EAIFEE = arc-sec +10 +10
Absolute accuracy
%ﬁﬁg. . Ps arc-sec 4 4
epeatability
REERE
Backlash U arc-sec 4 4

a) DD BEWEMBERSTE +5 B, T2EURKRIRIHSRMEAERTE  BRILIBERIRMNEREX  HoRETIEAE -

ARTREFTEIRISERETOUSUERN » WHRBENASZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



S P B M S Series aEdBeI,\geSs?gigcions

SPBMS250-3AH
@5 a5
7L, CL HKERTIL, AS
73 215 SAE6kgf/cmA2 B
8-08.5HE 20|, 48 68 5 37 i, UCL
LJ101478 RE6kgf/cmA2
0258 EEfrzEdl N) 1293 1 .8 ke
For Fixed Part O-ring
046 GTRE M HH ]
g
t -t
o3 o pid q|| | zloge zkE
3 BSHE o|” = ey
8 ol Q%5 | o] QEX
Q o Smce Q| 9%| WL
“5 BS
| g
| HigH H h
8-M8x1.25xL16 RADH BAEE
IRz, (Gt M23-6pin 905
For Rotary Part 52 B ER BE180E SR
M23-17pin 90 HERE
2RIBEFFEHETE 8-M5x0.8xL10
SPBMS250-3AHN
41 215
8-085H% 20, 48 68 5,37
L1014x8 s 295 s
o258 BIREREN RN g 722D . 3 ke
For Fixed Part O-ring
"~ wm M+ H
— [
5
N 25 L/ w5
9 ©9 | TH f Bog¥| Tue
| w G| oifE ol “on| ey
8 8| 3ts N B QX
| 9 SE 9 §%|eut
25 P B3
HEEE g
(BEH)
8 Me.2m16 mESER w5
For Rotary Part M23-17pin 90F M23-6pin 905
5 2E10EBEEY ERE ELSR=
HgTE
[8-M5x0.8xL10
TR (1) TEE (2) TERE (3) TEE (4) TRE (5) T=E (6) TEE (7)

w

1

N | ]




SPBMS250-3AHM

8-085EE

\_1®#1L4v”§

BlEHZEE
0258 For Fixed Part

@46 GTEZ

8-M8x1.25xL16
TEE R
For Rotary Part

SPBMS250-3AHL

8-0858%

L 101478
2258  @EfrEEA
For Fixed Part

@46 GTEZ

0
@2740.2

8-M8x1.25xL16
HEE R
For Rotary Part

0

©274-0.2
@235-0.2
@168
@90 h7
hesE A (E
For Rotary Part

L]

©2350.2
@90 h7
i e s o]
For Rotary Part

M23-17pin 90
2HR1B0EBFEHFRE

215
5 .37
&
m e
1 RS 1
S|°24 o g
S| oW QX
Q| gf|elt
mQ
BE d
RIS ERIEE
M23-17pin 905
SHIB0E B EENETE
25
eI, CL
= A
215 KE6kgf/cmA2
@5
HEL, UCL
5 37 AE6kgf/cmA2
g
gt
i 2loNe (St
ol Tan|vkg
S| Qw|QEx
Q| of|elt
28]
g
BB IETE

Lopaks 1
M23-6pin 907
2180/ B 1R
HiETR

8-M5x0.8xL10

Eais)
EOBEERSUMM T

Lopaks 31
M23-6pin 90

2180/ B %R
HiETRE



SPBMS ...

SPBMS320

Model Designations

SOLPOWER Power Bearing Module
Model SPBMS Series

SPBMS320-3SH | E7#&%#H 320 1ZEER

Model -3SH -3SHN -3SHM -3SHL
KHBERE NHERE BHERE B5ERE
IBH Item BS{i] Unit 2B Value {5+ Remarks
SEENTI TN EHEEED
Driving system Direct-Drive
ﬁi@:%iamater SD mm D90h7 ®130h7 ®130h7 ®90h7 TR 2 B
HEZFILE
Through hole diamater TD mm 24667
BIRES
IiE
Total weight (including Torque Motor) W kg 110 94 94 110
ket J kgm'2 0.2
Inertia '
S BHansEs s kg2 06
'-g Allowable load inertia ’
(&) & 2 =
e BEBRER] PuG kglom'2 5 - - 5
8 Un-Clamping Pressure
o BEREHRE) Pc kg/lcm"2 5 = = 5 e
< Clamping Pressure Pneumatic
(6] B L R
£ HERSBHRED To Nm 600 600
g Clamping Torque
[5} . 300 —
2 supamss BASL kg (®320x480L, S450) 2L ()
Capacity of workpiece mass . _
% pactly P g kg 225 REE (2)
B
E 3 N 20000 ~EE (3)
HEBNETEH - -
Allowable load when clamped FxL [ M 600 TEE (4)
FxL &fmE Nm 900 TRBE (5)
B iR Y 1 B e 1 SE=E
Shaft runout Radial R mm <0.005 mEE (6)
ﬁf@fﬁfﬁﬂ?ﬁff Ra mm <0.005 wEE (7)
REZFR P67
IP protection level
sk Vb S/ KSAN BRna
Cooling method Liqud-Cooling Self-Cooling
BB D 25 i \ B V Vrms 220 380 220 380
Driver input voltage o
EHTRE P 44 44
- Poles
o = R
L BEEVXR Pr W 2512 1256
8 Rated power
= = =
8 Eaafgéﬂ%jr /efi“ﬁiﬂzgr o Tr/Tm Nm 2407480 240/480 120/480 120/480
5 mrmn ) BrmE
EEj RAE]
§ Rated Current / Max. Current Ir/Im Arms 22148 22148 8.6/48 8.6/48
g ﬁi?s%ee/d mjgfgé%eed Vr/Vm rpm 100 /150 100/200 100/150 100 /200
U spgnrsnn e
EE IR EoE e erminal to
% Back E.M.F. & [ Vimsereersm o . terminal
W oy
g HORH Kr NMm/Arms 14 14
fﬁlﬂl Torque constant
EAIEE = arc-sec +10 +10
Absolute accuracy
=3
';E%E*HE. ) Ps arc-sec 4 4
epeatability
Ell=]
ggri% U arc-sec 4 4

4 a) DD BEMEMBERETE +5 A,

NATREFTERASERETEUECUERN - B TR @A -

FERRRRIBSEBEAERNTE | BRIEERNENERTER ., 5

The company reserves the right to modify the specifications/design, subject to change without further notice.



SPBMS320-3SH

@5
@5 HEWEAL, AS
78 207 s, UCL #2kgf/cmA2
FER6kgf/cm A2 BIK RN E(CHEE)
. o N
N 251395 695 _ 5 41 L EERRS UMM T
@340 B2, Mk E a5
For Fixed Part 4.2 |22 18 O-ring ;&9 CL
S E6kgf/cmA2 K
- |
t‘
o3| o3| p# Bl
8| ©lgis ol wn
5 m| QD Q|
Q| oSz« s g%
E5 ©
Y L]
PRt ] b 8-M5x0.8xL10
jd LET Bl |\ 40 . o -M5x0.8x
For Rotary Part @318 h7x19.5 0 | \ops: f}%’_’g,ﬁn S0 B
ElE 2 %R SE180E B EL BT M23-17pin 90 B
For Fixed Part| | 435| 615 SR R ZH180E B EBEHETRR
SPBMS320-3SHN
43 207
12-01058%
L 017712 25/395 695 541
B EE Wik E
@340 For Fixed Part 5 9.5 . .8 O-ring
046 G7TEZ -
| O ‘
5
@5
°2l°3| 5 285 ([ 230
S| of| | @S 5 Q| ©
8| 8|8 s8& 1 8| =¥
5
e
HEEE
(EEE)
12-M8x1.25xL16 {jﬁ@ (jf)”ﬁ 8-M5x0.8xL10
TRE R T 2318 h7x19.5 Epakes RIS
For Rotary Part BlE ¢ (E M23-6pin 90 M23-17pin 90E
For Fixed Part|| 43.5| 61.5 2180 BHEEH ERE ZH180E BHEEEIETRR
TEE (1) TEE (2) TEE (3) TEE (4) TEE (5) TEE (6) REB (7)

w

F

L

‘L_




SPBMS320

Model Designations

SPBMS ...

SPBMS320-3SHM

12-@1058 %

L Q17712 43 207
BEEHZEA
@340 For Fixed Part 5 25 9.5 5...41
046 GTEZ -
il
wn
LN
£
s @
og og © —’Em{‘; — = Og$
] ! [} o j= :
ol oo o I[IWS N oK
B W 8 gEs & =
g S S| b— 8| e
5 i
2
pay =YL=
(B2 4)
12-M8x1.25xL16
jird L yese -
For Rotary Part @318 h7xL9.5 Epagedl 1RIGER %R
Bl ez E M23-6pin 0% M23-17pin 90
For Fixed Part Z 180 BEEHETRE 251180 E BIFEHETRE
SPBMS320-3SHL
25
HEWRTL, AS
P a5 RE2kgf/cmA2
12%11(;«5?2%‘ 78 207 @A, UCL BEKTANE(CBAT)
iy S E6kgf/cmA2 \EEERSUMM T
ElEHZEA @5
@340 For Fixed Part S 23095 5 AL #1857, CL
R E6kgf/cm”2 K
046 GTES . o
i
o o ES -
og| o9 THT 2| oc¥
o © offg YRS
] W QG X e
9 § Sgz Q| {F
#5
2
8-M8x1.25xL16 i 8-M5x0.8xL10
i g IR &
’é’iﬂtﬁ;@a " 318 h79:5 M23-6pin 90FT RS
e fF 22 E 180 BIERHETRE M23-17pin 90/
For Fixed Part 20180 A ERE




11 - 12

SOLPOWER Power Bearing Module . e
Model SPEMS Serios SPBMS320-3AH | B8 320 MHliE
Model -3AH -3AHN -3AHM -3AHL
KHBERE NHERE BHERE BHERE
JBH ltem ES{i] Unit 218 Value {@zF Remarks
BEENT5 X - - B EEEE
Driving system Direct-Drive
HHERE s Er
Shaft Diamater SD mm ®90h7 ®130h7 ®130h7 ®90h7 TR & o B
HEZFILE
Through hole diamater D mm 246Gi7
BiES
IE
Total weight (including Torque Motor) W kg 7 11 11 117
BERE J kg-m"2 02
nertia

& BifRaBmNRE Ja kg-m"2 0.6

-(..—E Allowable load inertia

£ HERREE Puc kglom’2 5 - - 5

8 Un-Clamping Pressure

& BEXREHEEN Po kglem”2 5 B B 5 RETER

= Clamping Pressure Pneumatic

(S] & E

S HERSHFAT Te Nm 600 - - 600

g Clamping Torque

[5] . 150 =

Qo - e BAZV ki =B (1)

= SHans® g (©320x240L, S45C) s

?;\E Capacity of workpiece mass 5t @ 100 FEE (2)

1>(

% F N 16000 TEE (3)
HEBNEHaE - -
Allowable load when clamped FxL [ N 600 TEE (4)

FxL &fe Nm 900 TRBE (5)

B A0 D 1 -
Shaft runout RadiaT R mm <0.005 mEE (6)
i Y 8 1) s 4 =
Shaft runout Axial Ra mm <0.005 REE (7)
REFR - - P67
IP protection level
WANIS R ~ B S/ KsED SE
Cooling method Ligqud-Cooling Self-Cooling

=1 ==
’%@;’J%SWAEEQ Vp Vrms 220 380 220 380
Driver input voltage
LE SR TE p - 10 10

c Poles

o EThER

s BEE Pr W 4700 9400 2350 4700

s Rated power

= =) =

8 BERT) | RAHT) Tr/Tm Nm 90/ 135 90/ 135 45/ 135 45/ 135

Q Rated Torque / Max. Torque

O BEEER | RAE

g Rated Current / Max. Current Ir/1m Arms 32 /50 32 /50 16/ 50 16/ 50

£ HEER /| BRER

5 Rated Speed / Max. Speed Vr/Vm rpm 500 /1000 1000/1500 500/1000 1000 /1500

L ERGEREHD termi
BT CEJE erminal to

?E Back E.M.F. K| Ve = L= terminal

N i

g HAORH K+ Nm/Arms 28 28

fE:HP Torque constant
ENFEE P arc-sec +10 +10
Absolute accuracy
E%‘E%E. . Ps arc-sec 4 4
Repeatability
RFERZE
Backlash U arc-sec 4 4

a) DD BEWEMBERETE 5 A TERRKIFRHSNREEAERNE  BRIHERNRINEATER  BoREIRAE -

ARTREFTEIRISERETOUSUERN » WHRBENASZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



S P B M S Series 3EdBe|,\geSs?gzngcions

SPBMS320-3AH
o5
wEmaE,
& 219 g’séiﬁ?t ucL - )I\étf;lémAEZ
A 3 = R EE (T A
B J— _ 4 E RE/KEBME(=HES)
12-01058% 251395 695 541 SaBkgt/cm 2 BOEEERSUMMT
017312 on
2340 i 5 155 B e, CL
4.8 SMBekgf/cmA2 S
046 GTRS -
hud
oo oo v\g I
& "ol SHE 0|"g=
O | ong ©
» o og Qi
Q| 8 S« || g%
i
25
| I .
8-M8x1.25xL16 AR\ A A0 8-M5x0.8xL10
TR LT, @318 h7xL15.5 OKPE |\ B EE JEpE SR
>1o N/ %88 RIS ERIEIE
For Rotary Part Bl AL M23-6pin 90 M23-17pin 90
For Fixed Part | | 435|615 ZHIB0EBEELETE| | SA180EEEENETE
SPBMS320-3AHN
43 219
12-01058%
10 2539.5_ 69.5 5. 41
B340 EEAZEL 5 159 Rt
For Fixed Part 4’1‘ 9
3
046 GTEZ ! T
!
| [\e}
L
WS
o| o < | oo
O o D M= | il
™ 0| Q| 20 ~ ™M
Q| @ Sk | a¥F
ig.f S
-
12-M8x1.25xL16 g g EST
i, et || sss| ers M23-6pin 905 BRI
For Rotary Part For Fixed Part : : ZE180E BEBEEETRE M23-17pin 90
N 2H180E FEELETE
REE (1) REE (2) REE (3) REE (4) REB (5) REHE (6) REE (7)
w L+ F

= I ‘L [F== ] ]




SPBMS320-3AHM

12-010.5E%

L1@17v12
@340 ElEHZETL
For Fixed Part

SPBMS320-3AHL
12-010.55%
L1@17v12
25340 B AR,

©360-0.2
0
©3180.2
@196
@285 h7

@
£

©318-0.2
PAESM

12-M8x1.25xL16
TeEH R
For Rotary Part

8-M5x0.8xL10

B 32 BRI
M23-6pin 90/ M23-17pin 90
SE1B0EBHEFELETE 2H180EFEBELHTA

For Fixed Part

046 GTEZH

@5
RERE A, UCL
RMmBekgf/cmA2

@5
#eql, CL
SKBokgf/cm

0 “Tm

©360-0.2
0
©318-0.2
@90 h7
S (B
For Rotary Part
@285 h7

@
=

©318-0.2
PAESM

8-M8x1.25xL16
TEE R
For Rotary Part

8-M5x0.8xL10

BipalESE] RIS AR IEER
M23-6pin 90 M23-17pin 90
2HEIBVEBEEHETR SHRIB0EFEBHETE




S P B M S Series afdzﬂgfjg?gtfgngl-l

SOLPOWER Power Bearing Module = a5y 8
Viadol SPBMS Series SPBMS500-1SH | E7745#0 500 2%
1B8H item ES{i] Unit Z{E Value {55t Remarks
SEENTS TN - - B E R
Driving system Direct-Drive
S S
Shaft Diamater SD mm ®150n7 e e B
HEZILE e
Through hole diamater D A ©85G/xL10. @70 W=
BRES
Total weight (including Torque Motor) W kg 265
?E%gﬁﬁﬁ_ﬂj PuC kg/cm*2 12
n-Clamping Pressure
c I o
2 BEREHIET Pc kglcm"2 12 it
'8 Clamping Pressure Hydraulic
S BEREHREND Tc Nm 1500
%_ Clamping Torque
—= 500 — e
S} - —— BAZU kg TEB (1)
g BNErasEs (®500x320L, S45C)
© Capacity of workpiece mass . e
5 I kg 375 TRE (2)
=
% F N 30000 TaE (3)
¥  HERBNTHEHE @ —
g Allowable load when clamped FxL [ Nm 1500 TEE (4)
FxL &fE Nm 2000 TaE (5)
a2l ORI 2 TEE
Shaft runout Radial R mm <UCS TEHE (6)
L B s ) 28 1) 4 18 ==
Shaft runout Axial R mm A0S TEE (7)
REZFR
IP protection level h - IP67
BANAT B B SH /KA
Cooling method Ligqud-Cooling
REEN S N\ B v Vrms 220 380
Driver input voltage o
R =) - 88
Poles
KBEER
Rated power (Liqud-Cooling) Pro W 3035
S KBEEHRN /| |RAEN
o S R
k= Rated Torque (Liqud-Cooling) / Max.Torque Ve Ui N S i S0 D
o
€ KSBEBR /| BAES
8 Rated Current (Liquid-Cooling) / Max.Current Ire {f lm Arms 30/46 30/ 64
o3
0 EEER | RAERE
‘_S Rated Speed / Max. Speed Vr/Vm rom 50 /100 50 /150
£ EHEEREDHR ' i
5 Back E.M.F. Ke Vrms@100rpm 150 terminal to terminal
L [
oy K Ks Nm/Arms 25
ﬂ(\\ Torque constant
\
¥ BIRESN .
[ Least input increment degree 0.001
ENIFEE = arc-sec +10
Absolute accuracy B
Y=
';E%E*EE. ) Ps arc-sec 4
epeatability
REERZE
Backlash u arc-sec 4

a) DD BEWEMBERSTE +5 A, TE2ERKRIGHSNREEABRITE | FRILISERIRMERER  HoREIRAE -

NATREFTERASERETEUECUERN - B TR @A -

The company reserves the right to modify the specifications/design, subject to change without further notice.



NERY

External Dimensions (in mm)

e
12-@1258% 0 180 E’X%EMZS—NpJnVQOJEi

o512 UO1857125 6 3504 77 ngf (Z180E BEREEETD)
EEHEEL -

For Fixed Part

12-M8x1.25xL10

11115 40

(¢} b
12-M12x1.75xL24
HedBrzedc ol
For Rotary Part

@5
ey, UCL
JHEE12kgf/cmA2

=
i ©
N N.'\EQ- ~| N -
OO | 00| £ > clos =
r ¢ £ - = 2
nl RN as w| o
D fote 1 I <
NIST 14 @?{‘
Q| §YEC Q
[S)
i

@5
a1, CL
JHEE12kgf/cmA2

S 10-M5x0.8xL10
(K)H

B NARAGA(U/V/W/it) + TPCRIZEKTY84-130)
RESm, BIERKEBOS5IH

30

TEE (1) mEE (2) TEE (3) REE 4) TEE (5) REE (6) TEE (7)
w . L+ F




S P B M S Series 3fd2|'\g§:g?g{i§H

SOLPOWER Power Bearing Module . a5y 5
1B8H item ES{i] Unit Z{E Value {55t Remarks
BEENT5 - - B ERED
Driving system Direct-Drive
S S
Shaft Diamater SD mm ®150n7 e e B
HEZILE e
Through hole diamater LS it ©85G/xL10. 70 BF
BRES
Total weight (including Torque Motor) W kg 295
6'51%%%5’5_573 Puc kglom®2 12
n-Clamping Pressure
c I .
S RERSIHREN Pc kglom®2 12 IS
8 Clamping Pressure Hydraulic
S EENEMREN . - 1500
%_ Clamping Torque
— 500 — e
© - N BATV kg ~EE (1)
S BHEHEE (®500x320L, S45C)
% Capacity of workpiece mass . _
5 I kg 375 TRE (2)
—
F N 30000 TaE (3)
%
Y MEHNDHEH - .
§ Allowable load when clamped FxL [ Nm 1600 mRE (4)
FxL &fE Nm 2000 TaE (5)
BRI SRR -
Shaft runout Radial R mm <0.005 mEE (6)
28 i 19 2 1 4 FB ==
Shaft runout Axial Ra mm <0.005 mEE (7)
REZFR
IP protection level - - P67
BalE N - - S/ KA
Cooling method Ligqud-Cooling
RBE 350\ B v Vrms 220 380
Driver input voltage o
R =) - 88
Poles
KBEER
Rated power (Liqud-Cooling) Pre W 3270
c - =
o KSEEHD /| |RAHED
s Rated Torque (Liqud-Cooling) / Max.Torque Ve Ui i 1280/ 1400 1230 2000
o
€ KSEEEH /| BAE
8 Rated Current (Liquid-Cooling) / Max.Current Ire 7 Im Arms 30/34 30/50
o3
O EEER | RAERE
§ Rated Speed / Max. Speed Vr/vm irfeint 25150 251790
£ ERSEREmHR i i
5 Back E.M.F. Ke Vrms@100rpm 300 terminal to terminal
L [
B _;I_Hjj'%%( Kr Nm/Arms 50
orque constant
@
®BIRES
i  Least input increment - degree 0.001
EAEE © p arc-sec £10
Absolute accuracy B
Y=
';E%E*EE. ) Ps arc-sec 4
epeatability
REERZE
Backlash u arc-sec 4

a) DD BEWEMBERSTE +5 A, TE2ERKRIGHSNREEABRITE | FRILISERIRMERER  HoREIRAE -

NATREFTERASERETEUECUERN - B TR @A -

The company reserves the right to modify the specifications/design, subject to change without further notice.



NERY

17 - 18

External Dimensions (in mm)

110 236 @g%ﬁﬁﬁ N
= B #%2M23-17pin 90/E
12-Q1258% MiKE = it e o 2
Q1857125 6 3524 127 Ocring (S180%E BRI ENE)
2512 Efmsil N TR
For Fixed Part 11 540 12-M8x1.25xL10
@5
e, UCL
SHEE12kgf/cm A2
o
o~ N_IE ~| N
oo|oo| 1 > L looT|
n o Qs ] e
< o A S| ool
g S|SB 8 %
£
LT \ 2
JK)H
30 116 B N1RAGA(U/V/W/H) + 1IPCBIEKTY84-130)

RESm, BLFIKEB LS

TEE (1) REHE (2) TEBE (3)

el
C
2

TEE (5)

Eﬁw N ar = ] ]

w

1




SPBMS ...

SOLPOWER Power Bearing Module
Model SPBMS Series

2220 Mechanical Specification

ERESE Electrical Specification

IBH Item
SEEN STV

Driving system
HEE

Shaft Diamater b
WEZILE -,
Through hole diamater

RS E W
Total weight (including Torque Motor)
SERBEET

Un-Clamping Pressure

BEREHERET Pc

Clamping Pressure

SR EHREN To
Clamping Torque

Puc

- . BAZV
SHaNEE
Capacity of workpiece mass .
I

HEFNSTEH

=
Allowable load when clamped FxL [

FxL &

HH B R R -
Shaft runout Radial

BRIV R -

Shaft runout Axial

REFR

IP protection level
ek Vs ba
Cooling method

5BE) 356\ BE 7

Driver input voltage

BT AN -

Poles

KHEEEWR
Rated power (Liqud-Cooling)

KBEERT | ZAED

Rated Torque (Liqud-Cooling) / Max.Torque
KTBEESR | RAE]

Rated Current (Liquid-Cooling) / Max.Current

FEER | RAEE
Rated Speed / Max. Speed

THREERBHD ‘o
Back E.M.F.

BEH <

Torque constant

Prc
Trc/ Tm
Irc/1m

Vr/Vm

B\ EES 1T

Least input increment

EATEE * n
Absolute accuracy

SEEE o
Repeatability

RE®RE U
Backlash

SPBMS500-1AH

Model Designations

BSfi] Unit

mm
mm
kg
kg/cm*2
kg/cm*2
Nm
kg

kg

Nm
Nm
mm

mm

Vrms

W
Nm
Arms
rpm
Vrms@100rpm
Nm/Arms

degree
arc-sec
arc-sec

arc-sec

SPBMS500-1AH | /718 500 5%

B{E Value {#Et Remarks
EREERED
Direct-Drive
®150n7 e e B
®85G7xL10, ®70 BF
265
12
19 HEEEEL
Hydraulic
1500

300 e
(®500x200L, S45C) =

225 TRE (2)
20000 TaE (3)
1500 T=E (4)
2000 TaE (5)
<0.005 T=E (6)
<0.005 TERE (7)
P67
S/ KEED
Ligud-Cooling
220 380
20
15000
240/ 480 240/ 480
60 / 150 60 / 1560
600 / 600 600 / 1000
26.7 terminal to terminal
4
0.001
+10
4
4

=4 a) DD BENEMHEERSTE 6 A TEERKIRINSENREEAEFRNE | FRILEERNRTERAELX . B oREIRAE -

RRTDRBETEIRASRETONSIUERN > WBERLFOAZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



NERY 19 - 20

External Dimensions (in mm)

110 216 (EiEREE
12-Q1258% g EARM23-17pin 90
01857125 6 324 77 O (B180ESEBEHERR)

BEEHREA 11 5 40

For Fixed Part ’A/ 12-M8x1.25xL10
@5
BRaEL, UCL
SHE12kgf/cm A2

°

-M12x1.75xL.24
BEEEL ]
For Rotary Part

=
@118 ©
o o EE T
[SISSTS) _cx%b ElocY] [t
n oloMs - B He °
< 00| LN -+ _ | ool
4 Je=s S %
Q g« Q QW
B

0]
#hedl, CL
JRE12kgf/cm A2

10-M5x0.8xL10

BB NHRI0MmMA2*3(U/V/W) +
X ERZAR(KTY84-130)
RESM, BIEFKBLSIH

30

TEE (5) ={=R(5) TEB (7)

el
C
2

TEE (1) REHE (2) TEBE (3)

N | ]

w

1




S P B M S Series 323“@?%&2?3?4

SOLPOWER Power Bearing Module . 2 8
Vodol SPBMS Series ¢ SPBMS650-3SH | E)7)i%#H 650 {24 ;%
1B8H item ES{i] Unit Z{E Value {55t Remarks
BEENTS N - - B ERED
Driving system Direct-Drive
gizﬁf]g%iamater SD mm ©210h7 et R
ﬁfgﬁ'ﬁe I ™ mm ®143G7xL20, @110 BZ
BRES
Total weight (including Torque Motor) W kg 450
HERREET) Puc kglcm"2 6
Un-Clamping Pressure
S mEREHEEs . - ; BEBS,
s Clamping Pressure c giem Hydraulic
S SEmEgREn o - 1500
‘%‘_ Clamping Torque
—= 600 = e
8 zpanss e kg (©650x230L., S45C) mRE (1)
% Capacity of workpiece mass . —
S I kg 450 TRE (2)
[0}
= = r
. F N 40000 T=E (3)
Y mswwssas
HERBNEHEE - -
%t Allowable load when clamped FxL [ Nm 1500 TEE (4)
FxL &fE Nm 2000 TaE (5)
HER R R 1 -
Shaft runout Radial R mm <UCS TEHE (6)
28 i 19 2 1 4 FB ==
Shaft runout Axial R mm A0S TEE (7)
REZFR
IP protection level h - IP67
mas - - /KA
Cooling method Ligqud-Cooling
REEN S N\ B v Vrms 220 380
Driver input voltage o
R =) - 88
Poles
KBEER
Rated power (Liqud-Cooling) Pro W 3270
c V& = =
o KSEEHD /| |RAHED
s Rated Torque (Liqud-Cooling) / Max.Torque Ve Ui i 1280/ 1400 1230 2000
o
e KHEESER /| RAE
8 Rated Current (Liquid-Cooling) / Max.Current Ire {f lm Arms 28133 28145
o3
O EEER | RAERE
§ Rated Speed / Max. Speed Vr/vm rigimn 25150 25/90
3 ;ﬁ*‘?ﬁgﬁéﬂ” Ke Vrms@100rpm 330 terminal to terminal
m [
B 'ﬁ?c?uf%gnstant Ks Nm/Arms 55
@
® BTSN
P  Least input increment a SOgTEE S
EMBE = arc-sec +10
Absolute accuracy B
EERE Ps arc-sec 4
Repeatability
E’ag%s% u arc-sec 4

=4 a) DD BENEMHEERSTE 6 A TEERKIRINSENREEAEFRNE | FRILEERNRTERAELX . B oREIRAE -

RRTDRBETEIRASRETONSIUERN > WBERLFOAZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



AORY |21 - 22

External Dimensions (in mm)

@5
86 255 HEMEAL, AS
= MK E RE2kgf/cmA2
14-M12x1.75xL24 16'(?115?555 4Q1.66_ 96 _ O-rin BBEEKRARE(CHAS)
st 22 >
TREBHLTEA @598 E#F%L‘C;?L‘ 16| PBa | 167|540 BEERSumB T
For Rotary Part For Fixed Part
o[ TTHATT 2588
@8
BRoRE A, UCL
JHEE6kgf/cmA2
t °
o °
oo =8 Blodz 4 o
g § 9EE 8| g%
EXS) .
@8
lt #Esg], CL
HE6kgf/cmA2
NN |NESIEE < D 500
A0 | 440 o Too. 12-M6x1.0xL12
@570 h7 o] \ow 98
Bl L5 E BRSRER A, UCL
For Fixed Part| | 74 | 80 | JHEEbkgf/cmA2
RIS es R
BR#M23-17pin 90/E B NERAGA(U/NV/W/HE) + IP(CRIZEKTY84-130)
=H1B0EFFEHERE | | RESm, BIEIKBESIH

REE (1) TEE (2) mEE (3) TEE (4) mEE (5) TEE (6) REE (7)
w

F




SPBMS ...

SOLPOWER Power Bearing Module
Model SPBMS Series

[ Mechanical Specification

zZ

Hms

ERESE Electrical Specification

IBH Item
SEEN STV

Driving system
HEE

Shaft Diamater b
WEZILE -,
Through hole diamater

RS E W
Total weight (including Torque Motor)
SERBEET

Un-Clamping Pressure

BEREHERET Pc

Clamping Pressure

SR EHREN To
Clamping Torque

Puc

- . BAZV
SHaNEE
Capacity of workpiece mass .
I

HEFNSTEH

=
Allowable load when clamped FxL [

FxL &

HH B R R -
Shaft runout Radial

BRIV R -

Shaft runout Axial

REFR

IP protection level
ek Vs ba
Cooling method

5BE) 356\ BE 7

Driver input voltage

BT AN -

Poles

KHEEEWR
Rated power (Liqud-Cooling)

KBEERT | ZAED

Rated Torque (Liqud-Cooling) / Max.Torque
KTBEESR | RAE]

Rated Current (Liquid-Cooling) / Max.Current

FEER | RAEE
Rated Speed / Max. Speed

THREERBHD ‘o
Back E.M.F.

BEH <

Torque constant

Prc
Trc/ Tm
Irc/1m

Vr/Vm

B\ EES 1T

Least input increment

EATEE * n
Absolute accuracy

SEEE o
Repeatability

RE®RE U
Backlash

SPBMS650-3AH

Model Designations

BSfi] Unit

mm
mm
kg
kg/cm*2
kg/cm*2
Nm
kg

kg

Nm
Nm
mm

mm

Vrms

W
Nm
Arms
rpm
Vrms@100rpm
Nm/Arms

degree
arc-sec
arc-sec

arc-sec

SPBMS650-3AH | E)/1%1H 650 5%

B{E Value {#Et Remarks
EREERED
Direct-Drive
®210n7 e e B
®143G7xL20, @110 B
450
6
6 HEEEEL
Hydraulic
1500

400 e
(@650x150L, S45C) =

300 TRE (2)
30000 TaE (3)
1500 T=E (4)
2000 TaE (5)
<0.005 T=E (6)
<0.005 TERE (7)
P67
S/ KEED
Liqud-Cooling
220 380
20
19000
450 / 900 450 / 900
721180 721180
400 / 400 400 / 600
44 terminal to terminal
6.3
0.001
+10
4
4

=4 a) DD BENEMHEERSTE 6 A TEERKIRINSENREEAEFRNE | FRILEERNRTERAELX . B oREIRAE -

RRTDRBETEIRASRETONSIUERN > WBERLFOAZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



NERY

External Dimensions (in mm)

23 - 24

86 255
@5
MiKE wEREAL, AS
401 66 96 _ 0ing kgf/cmA2
14-M1£X];75XL24 16-01258% BRKREMECRHAES)
B, 81855125 BLE g 7 [ BEERSUMML T
For Rotary Part D598 ERrrtsT
For Fixed Part
IS_ 1
@8
e, UCL
JHEE6kgf/cm A2
% o ||® °
oS |oo Eﬁ‘%t = ool = ol
&l glgis 8l 5%
8| 8|8z g 3¢
5 °
2
@8
;e CL
t JmEekgf/cmA2
) SR
A\ sas 08
(K)HE [\ OK) BRsREE A, UCL 12-M6x1.0xL12
%5%%!]7;: JHEE6kgf/cm A2
LHE . "
For Fixed Part| |74 | 80 ERE SR A ERE D#10mm " 2*3(U/V/W)+
EA#RM23-17pin 90E RER AR (KTY84-130)
2HIBVEEEBEETE| | RESM, BIEHKBESIH
TR (1) TEE (2) TERE (3) TEE (4) TRE (5) T=E (6) TRE (7)
w L+ F
F = —




REHSRARRAS
SOLPOWER MACHINE ELECTRONIC CORP.

No.89, Ln.1005, Sec 1, Hemu Rd., Qingshui Dist.,
Taichung City 43641, Taiwan(R.0.C)

43641 SPMBENENERE—E10058895%
TEL: +886-4-2620-2888

FAX: +886-4-2620-2777

www.solpowermotor.com
E-mail: sol.powerasolpower.com.tw !EE“:EI
=%



